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Quiz Date: 25th February 2020 

Directions (1-5): Study the information carefully and answer the questions given below. 

An uncertain number of persons sit in a linear row in such a way that all of them faces towards 

north direction. Four Persons sit between H and A. R sits second to the right of A. I sits third to the 

left of R. As many persons sit between S and B as many between B and H. Four persons sit between 

R and S. H is not immediate neighbor of B. M sits seventh to the right of B and third from one of the 

extreme ends of row. I sits fifth from the one of the extreme end of the row. Not more than three 

persons sit between I and H. 

 

Q1. How many persons sit in the row? 

(a) 16 

(b) 17 

(c) 15 

(d) 14 

(e)18 

 

Q2. Who among the following person sit second to the right of the one who sits eleventh from the 

right end of row?  

(a) A 

(b) B 

(c) I 

(d) R 

(e) S  

 

Q3. How many persons sit between I and S? 

(a) Six 

(b) Seven 

(c) Eight 

(d) Five 

(e) Nine 

 

Q4. If As many persons sit between A and T as many between T and M then how is T related to M? 

(a) Third to the left 

(b) Fourth to the left 

(c) Fifth to the right 

(d) Fourth to the right 

(e) None of these 

 

Q5. If Y sits exactly between H and I then how is B related to Y? 

(a) Third to the right 

(b) Fourth to the left 

(c) Second to the right 

(d) Immediate left 

(e) None of these 
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Directions (6-10): Following questions are based on the five three-digit numbers given 
below. 
  
645   826    721    395     548 
   
Q6. What will be the difference when second digit of the 3rd lowest number is multiplied with the 
first digit of the highest number and first digit of the 2nd highest number is multiplied with the 
second digit of the lowest number? 
(a) 21 
(b) 30 
(c) 31 
(d)26 
(e) None of these 
 
Q7. If all the digits in each of the numbers are arranged in increasing order within the number then, 
which of the following number will become the lowest in the new arrangement of numbers? 
(a) 826 
(b) 395 
(c) 645 
(d) 721 
(e) 548 
 
Q8. If one is added to the third digit of each of the numbers and one is subtracted to the second digit 

of each number then, how many numbers thus formed will be completely divisible by two in new 

arrangement? 

(a) Three  

(b) One  

(c) None 

(d) Two 

(e) Four 

  

Q9. If all the numbers are arranged in decreasing order from right to left then, which of the 

following will be the sum of all the three digits of the number which is 4th from the left in the new 

arrangement? 

(a) 10 

(b) 15 

(c) 16  

(d) 17 

(e) None of these 
  

Q10. If the positions of the first and the third digits of each of the numbers are interchanged then, 

how many even numbers will be formed? 

(a) One   

(b) Two  

(c) Three  

(d) None 

(e) Four 
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Directions (11-13): Study the information carefully and answer the questions given below. 

Eight persons in the three generations of the family. H is son in law of K. K is Sister in law of Y. M 

and L are the son of P. L is nephew of U. H does not have any sibling. U is daughter of G. Y is not 

married. 

 

Q11. How is G related to P? 

(a)  Father in law 

(b) Father 

(c) Mother in law 

(d) Mother 

(e) None of these 

 

Q12. How is L related to K? 
(a) Grandfather 

(b) Grandmother 

(c) Granddaughter 

(d) Grandson 

(e) None of these 

 

Q13. How is Y related to U? 

(a) Uncle 

(b) father 

(c) Son 

(d) Aunt 

(e) Can’t be determined 

 

Q14. How many words can be formed from the 3rd, 4th, 5th and 11th letter of a word 

‘PARTNERSHIP’ by using each letter once in the word? 

(a) None 

(b) One 

(c) Three 

(d) Two 

(e) More than three 
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Q15. How many pairs of letters (both forward and backward direction) are there in the word 

“STRENGTHEN” each of which have as many letters between them in the word as they 

have between them in the English alphabetical series? 

(a) One 

(b) Three 

(c) None 

(d) More than three 

(e) Two 

 

 
 

Solutions 
Solutions(1-5): 

Sol.  

 
S1.Ans(a) 

S2.Ans(d) 

S3.Ans(b) 

S4.Ans(b) 

S5.Ans(e) 

 

Solutions (6-10): 

S6.Ans(c) 

S7.Ans(d) 

S8.Ans(a) 

S9.Ans(a) 

S10.Ans(b) 

 

Solutions (11-13): 

Sol.  
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S11.Ans(b) 

S12.Ans(d) 

S13.Ans(e) 

S14. Ans.(a) 

 

S15. Ans.(e) 

Sol. 
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